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4. 2.50 points.
Heart & Home Properties is developing a subdiision that includes 430 home lots. The 160 lots in the
Canyon section are below a ridge and do not have views of the neighboring canyons and hills the 330 lots.
in the Hilltop section offer unobstructed views. The expected selling price for each Canyon lot is §59,000
and for each Hilltop lot is $99,000. The developer acquired the land for $1.900,000 and spent another
53,300,000 on street and utilties improvements.

Assign the joint Iand and improvement costs to the lots using the value basis of allocation and determine
the average cost per lot. (Do not round your intermediate calculations.)

Numerator | Denominator % of Mkt Value

Canyon section

Hilltop section

Totals
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2.50 points
Beyer Company is considering the purchase of an asset for $380,000. It is expected to produce the
following net cash flows. The cash flows occur evenly throughout each year.

Year1  Year2  Yeard  Yeard  Year§ Total
Net cash flows 590,000  $50,000  $70,000  $250,000  §$11.000  $471,000

Compute the payback period for this investment. (Cumulative net cash outflows must be entered with
aminus sign. Round your answers to 2 decimal places.)

s (380.000)

o e W

Payback period =
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Compute the payback period for each of these two separate investments:

. A new operating system for an existing machine is expected to cost $260,000 and have a useful lfe of
four years. The system yields an incremental aftertax income of $75,000 each year afer deducting its
straight-ine depreciation. The predicted salvage value of the system is $10,000.

b. A machine costs $190,000, has a $14,000 salvage value, is expected to last ten years, and will
generate an after-tax income of $41,000 per year after straight-line depreciation.

Payback period

Payback period
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B2B Co. is considering the purchase of equipment that would allow the company to add a new product to
its fine. The equipment is expected to cost $371.200 with a 6-year life and no sabvage value. It will be
depreciated on a straight-ine basis. K2B Co. concludes that it must eam at least a 10% retum on this
investment. The company expects to sell 148.480 units of the equipment's product each year. The
expected annual income related to this equipment follows. (PV of $1, FV ofS1, PVAf S1, and FVAof 1) (Use
appropriate factor(s) from the tables provided.)

Sales. 232,000
Costs
Materials, labor, and overhead (except depreciation) 81,000
Depreciation on new equipment 61.867
Selling and administrative expenses 23,200
Total costs and expenses. 166,067
Pretax income. 65,933

Income taxes (30%) 19.780

Net income

Compute the et present value of this investment. (Round "PV Factor” to 4 decimal places. Round your
intermediate calculations and final answer to the nearest dollar amount.)

Net present value
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Farrow Co. expects to sell 300,000 units of its product in the next period with the following resuts

Sales (300,000 units) 54,500,000
Costs and expenses
Direct materials 600,000
Direct labor 1,200,000
Overhead 300,000
Selling expenses 450,000
Administrative expenses 771,000
Total costs and expenses 3,321,000

Net income §1,179,000

‘The company has an opportunity to sell 30,000 additional units at $13 per unit. The additional sales would
not affect its current expected sales. Direct materials and labor costs per unit would be the same for the
additional units as they are for the regular units. However, the additional volume would create the following
incremental costs: (1) total overhead would increase by 15% and (2) administrative expenses would
increase by $129,000.

Calculate the combined total net income if the company accepts the offer to sell additional units at the
reduced price of $13 per unit
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Costs and expenses

Total costs and expenses

Incremental income (loss)
from new business.

‘Should the company accept or reject the offer?

O The company should accept the offer
©The company should reject the offer
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Woh Che Co. has four departments: materials, personnel, manufacturing, and packaging. In a recent
month, the four depatments incurred three shared indirect expenses. The amounts of these indirect
expenses and the bases used to allocate them follow.

Indirect Expense  Cost  Allocation Base.

Supenision  § 82,800 Number of employees
Utiities 53,000 Square feet occupied
Insurance 24,000 Value of assets in use

Total $159,800

Departmental data for the company's recent reporting period follow.

Depatment  Employees ~ Square Feet Asset Values

Materials 2 39000 §12,600
Personnel 7 6,500 3,150
Manufacturing 63 65000 31500
Packaging 42

19500 16,750

Total 140 130,000 $63,000

(1) Use this information to allocate each of the three indirect expenses across the four departments
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(2)Prepare a summary table that reports the indirect expenses assigned to each of the four departments.

Materials

Personnel
Manufacturing
Packaging
Totals
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Marathon Running Shop has two service departments (advertising and administration) and two operating
departments (shoes and clothing). During 2013, the departments had the following direct expenses and
occupied the following amount of floor space

Department Direct Expenses  Square Feet
Advertising 16,000 1,088
Administrative 18.700 1153
Shoes 101,500 6337
Clothing 11,700 4224

The advertising department developed and distributed 120 advertisements during the year. Of these, 76
promoted shoes and 44 promoted clothing. The store sold $350,000 of merchandise during the year. Of this
‘amount, $227,000 is from the shoes department, and $123,000 is from the clothing department. The utilties
expense of $65,000 is an indirect expense to all departments

Complete the departmental expense allocation spreadshet for Marathon Running Shop. Assign (1) direct
expenses to each of the four departments, (2) the $65,000 of utilties expense to the four departments on
the basis of floor space occupied, (3) the advertising depatment's expenses to the two operating
departments on the basis of the number of ads placed that promoted a department's products, and (4) the
‘administrative department's expenses to the two operating departments based on the amount of sales
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You must prepare a retum on investment analysis for the regional manager of Fast & Great Burgers. This.
growing chain is trying to decide which outlet of two aktematives to open. The first location (A) requires a
$500,000 investment and is expected to yield annual net income of $80,000. The second location (B)
requires a 200,000 investment and is expected to yield annual net income of $44,000.

‘Compute the retum on investment for each Fast & Great Burgers aktemative.

i = ROl
Location A s 500,000

Location B s 200,000





